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. GH MDQHLUR GH 6HJIXQGD | HLUD
e M]HR JIm =H\ R Rnj=nRs_
e _j> R HJ =nRsRH=HJKH2: Q22\ R Ak 36QH2\ R M

e _F=[H =\ gnk =m

e GH MDQHLUR GH 7 HUED | HLUD
« M]HR J]m =H\ R Rnj=nRs_
e _j> R HJ =nRSRH=HJKH2: QH22\ R Ak 36Qr22\ R M

e _F=[H =\ gnk =m

«  GH MDQHLUR GH 4 XDUWD | HLUD
e M]HR JIm =H\ R Rnj=nRs_
« _j> R HJ =nRsRH=HJKH2: Q22\ R Ak 36QH2\ R M

e _F=[H =\ gnk =m

«  GH MDQHLUR GH 4 XLQWD | HLUD
e mM]HR J]m =H\ R Rnj=nRs_
e _j> R HJ =nRSRH=HJkH2: Q22\ R Ak 36QF22\ R M

e F=[H =\ gnk =mm

e  GH MDQHLUR GH 6 H[ WD | HLUD
« mM]HR J]m =H\ R Rnj=nRs_
e _j> R HJ =nRSRH=HJkH2: Q22\ R Ak 36Qr22\ R M 4

_F=[H =\ gnk =mm
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